OMIUJRVIZD 3RIVNL Z SIANZDQLX -XQLRUyZ O} (Dl

= CELFD
- RQNXUHQFID &KiRSFyZ P JUJELHIRZ\ 0D
/WVID VIDURZD ((LPLQDFIH
5RN XU
6HUD 1]
"20%$€6., .DFSHU .251(5 =lHRQD * 17
7/%. $GDP 2TDlyZ OD]RZIHFNL 17
)$/,6 "DZIG &6l5 026 "gEURZD *yUQIF]D 17
6a$%,66., .DPU 2/,03,-&=<. 6XZDiN. 17
%,-%$ . 3DIL\N -25"$1 .UDNyZ 17
.5=(z,e6., 3DIN\N 3LCIQDVIND $48% %\GJIRV]F] 17
9 :,(5=%,1 ODUHN 2/,03,-&=<. 6XZDiNl 17
6HUD 1]
6=( = &=<. ODFHI .2521% 6,0 -IHFH
0,&+%$/%. 3R 26752%5$06.$ = DWV]DZD
= $/&=$. SH\V 2TDlyZ OD]RZIHFNL
3¢&.8/ zINIRU T2/,%25= = DW]DZD
.$/,1% 5DGRViDZ %2%5< = CELFD
5$"=,6=(z6., -DNXE Z271,. %HIVN 3RGIDVNL
3%$:7/,6,$. DRI $67520%/ $. =$-,7 /HVIQR
3$"a2 .DPU = $57$ 3R]QDE 17
6HUD ]

2-8&=<. *UJHJIRV]
3,$7.2:6_, ODIFIQ
%,(& .DPU

..&$ 3DZH;

=<&+ NDPU
-$51(&., %DUIRV]
025%$: 6., -DNXE
6.28=</$6 $CDP

GHUD ]

6=<0&=$. .U]\V]IRI
62%&=%. 3RIl
.232"=,(-6.,)lS
%,(/(&-, ,JRU
6$/$021 -RQDV]
&=(.$- .DPU

-$1,& ., ODIHXV]
02672:6., UJ\V]IRI

6HUD ]
5%"/,66., JQDF\
3,(75=%. -UJ\V]IRI
6$),1 -RQUDG
&ET.2-6., "RPLQIN
%8&+2/& %DUIRV]
a$*2& ., -DQ

-$5%$6=_.,( = ,&= %DUIRV]

0%$/,12:- 6., OLFKD}

-25"$1 .IDNyZ
32/21,$ =DW]DZD

= $57% 3R]QDE

-25"$1 .IDNyZ

=, .1 %UTHVNR

.251(5 =IHRQD *

" -T-.$025(1$ *GDEW
-2*1,.  _DIRZIFH

-89(1,$ - URFiDZ
2/,03,% 3R]QDE
-251(5 =lHRRQD *
T2/,%25= - DW]DZD
*T51,. 5DGIQ
-25"3%$1 _IDNyZ
6.$53% /XEIQ
58&+ *UXG]laG]

25_$ =DPRG

" -T-.$025(1$ *GDEW
" (/),1 7DUQREUJHJ
-25"$1 .IDNyZ

73 2/,03,-&=<. $HNVDQGUyZ ayG

32/21,$ =DW]DZD
3261$1,% 3R]QDE
§/A6. = RFiDZ

6SIDVK OHHIi ODQDJHU %XLG

SHILVIHUHG IR 3RILVK 6ZLP PLQJ )HGHUDILRQ

6IURQD



OMIUJRVIZD 3RIVNL Z SIANZDQLX -XQLRUyZ O} (Dl
" CELFD

- RQNXUHQFID &KiRSFyZ P JU]JEHIRZ\ (ILPLQDFIH

6HUD ]
026&,&., -DQ 73 2/,03,-&=<. $H\VDQGlyZ ayG
&+52%2 . 6]\PRQ * /86 *|RZIFH
)$/$&,86 ., ODFIHI 8.6 026 (N
3%z (aC. ,JRU 3ICIQDVIND $48%$ %\GJIRV]F]
/8" = .&=$_ 3IRI 6+$5. 5XGQD
/(9.,(=,&= -RQIDG 32/21,% =DW]DZD
.$5 = $7 _UT\V]IRI 1% = $ 6NHUQHZLFH
.20&,(/$. $GDP = $57% 3R]QDE

6SIDVK OHHIi ODQDJHU %XLG SHILVIHUHG IR 3RILVK 6ZLP PLQJ )HGHUDILRQ 6IURQD



